
 

   
 

 

𝑓𝐷1
(𝑦) = {

1

5000
(100 − 𝑦) ; 0 ≤ 𝑦 ≤ 100

0          ; نيا صورت         در غير 
 

 

 𝑓(𝑥) = 2𝑥3 −
1

2
𝑥2 − 𝑥 +  [1,2-]فاصله يرو1

 f(x) = √x2 − x
 , 1-] [فاصله يرو 3

2

3
 

 

𝑥 = 3 𝑐𝑜𝑠 𝑡 

𝑦 = 2 𝑠𝑖𝑛 𝑡 

0 ≤ 𝑡 ≤ 𝜋 

 

𝑚𝑖𝑛 𝑍 = 𝑥1
2+𝑥2

2 + 𝑥3
2 

𝑥1 + 𝑥2 + 3𝑥3 = 2 

5𝑥1 + 2𝑥2 + 𝑥3 = 5 

 

  



 

   
 

 

𝑚𝑎𝑥𝑓(𝑥) = ln(𝑥1 + 1) + 𝑥2 

2𝑥1 + 𝑥2 ≤ 3 

𝑥1و 𝑥2 ≥ 0 

 

maxf(x1 , x2) = 10𝑥1 + 8𝑥2 − 2x1
2

− 3𝑥2
2 − 2𝑥1𝑥2 

𝑥1 + 𝑥2 ≤ 8 

𝑥1و 𝑥2 ≥ 0 

 

 

 

𝑧 =  𝑥2 + 2𝑥 
−3 ≤ 𝑥 ≤ 5 

 

𝑓(𝑥, 𝑦) = 4𝑥2 + 2𝑦2 − 4𝑥𝑦



 

   
 

 

f(x1 , x2) = x1
4

+𝑥2
4 + 2𝑥1

2𝑥2
2

 

Max z = 
2𝑥1+3𝑥2+4

𝑥1+2𝑥2−20
 

5𝑥1 + 4𝑥2 ≤ 20 
4𝑥1 + 𝑥2 ≤ 10 

𝑥1و 𝑥2 ≥ 0 

 

𝑓(𝑥, 𝑦) = 2 − 𝑥2−𝑦2 + 2𝑥 + 2𝑦 

 

𝑍 = 𝑥1 + 𝑥2  

4 ≤ 𝑥1
2 + 𝑥2

2 ≤ 9 

𝑥1و 𝑥2 ≥ 0 

 

 

mailto:rasti@cc.iut.ac.ir

